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Question: 1 
   
An administrator is evaluating an organization's computers for an upcoming SES deployment. Which 
computer meets the pre-requisites for the SES client? 
 
A. A computer running Mac OS X 10.8 with 500 MB of disk space, 4 GB of RAM, and an Intel Core 2 Duo 
64-bit processor 
B. A computer running Mac OS X 10.14 with 400 MB of disk space, 4 GB of RAM, and an Intel Core 2 Duo 
64-bit processor 
C. A computer running Windows 10 with 400 MB of disk space, 2 GB of RAM, and a 2.4 GHz Intel 
Pentium 4 processor 
D. A computer running Windows 8 with 380 MB of disk space, 2 GB of RAM, and a 2.8 GHz Intel Pentium 
4 processor 
 

Answer: C     
 

Question: 2 
   
What are the Exploit Mitigation security control's mitigation techniques designed to prevent? 
 
A. Packed file execution 
B. Misbehaving applications 
C. File-less attacks 
D. Rootkit downloads 
 

Answer: D     
 

Question: 3 
   
Which security control is complementary to IPS, providing a second layer of protection against network 
attacks? 
 
A. Host Integrity 
B. Antimalware 
C. Firewall 
D. Network Protection 
 

Answer: D     
 



Question: 4 
   
Which alert rule category includes events that are generated about the cloud console? 
 
A. Security 
B. Diagnostic 
C. System 
D. Application Activity 
 

Answer: A     
 

Question: 5 
   
Which designation should an administrator assign to the computer configured to find unmanaged 
devices? 
 
A. Discovery Broker 
B. Discovery Agent 
C. Discovery Manager 
D. Discovery Device 
 

Answer: B     
 


